

## RASHTRIYA SANSKRIT VIDYAPEETH O/W. No. 507 TIRUPATI - 517 507 (A.P.)

## DEPARTMENT OF EDUCATION

Dept. of Education Date .24 10 19

Date: 23.10.2019

No.RSV/Dept.Edn./SS&SA/Scholar Ship/2019-20

### Note Submitted:

Sub.: Sanction of Scholarships for the students who have studying during the current academic year 2019-20 (for 10 months) - Regarding.

It is submitted that that Vidyapeetha is paying the scholarship to all students who have studying in the Siksha Sastri (B.Ed.), Siksha Acharya (M.Ed.) courses every year. The total strength of Siksha Sastri (B.Ed.) 1st year is 110 students, out of these 110 students 60 students has obtained the scholarship from Orissa Govt., remaining 50 students only may be paid from the Vidyapeetha and the list is herewith enclosed for your kind perusal.

S.No.	Course/Year	No. of eligible students	Amount of scholarship @each course in Rs.	Amount required for payment of scholarship per month	Total amount required for payment of scholarship (10 months) 75,000-00
		for scholarship		7500-00	
1	Siksha Sastri-1year	50	150	7350-00	73,500-00
2	Siksha Sastri-2year	49	150	2000-00	20,000-00
	Siksha Acharya -1year	10	200	3200-00	32,000-00
	Siksha Acharya -2year	16	200	3200-00	
3	Siksha Acharya	16	1000		16,000-00
	grant (one time only)		TOTAL Rs.	20,050-00	2,16,500-00

The total commitment for the entire academic year i.e. 2019-20 of Rs.2,16,500/-(Rupees Two Lakh sixteen thousand five hundred only). Hence permission may please be accorded to sanction and to incur the total expenditure from the non-plan budget for the academic year 2019-20.

Submitted for approval:

(Dept. of Edn.)

(Fac. of Edn.)

2877 25/10/18

2003 28/10/19

Play he append

Encl.: Eligibility Students list

BR Admit to



## RASHTRIYA SANSKRIT VIDYAPEETH O/W. No. 507 TIRUPATI - 517 507 (A.P.)

## DEPARTMENT OF EDUCATION

Dept. of Education Date .24 10 19

Date: 23.10.2019

No.RSV/Dept.Edn./SS&SA/Scholar Ship/2019-20

### Note Submitted:

Sub.: Sanction of Scholarships for the students who have studying during the current academic year 2019-20 (for 10 months) - Regarding.

It is submitted that that Vidyapeetha is paying the scholarship to all students who have studying in the Siksha Sastri (B.Ed.), Siksha Acharya (M.Ed.) courses every year. The total strength of Siksha Sastri (B.Ed.) 1st year is 110 students, out of these 110 students 60 students has obtained the scholarship from Orissa Govt., remaining 50 students only may be paid from the Vidyapeetha and the list is herewith enclosed for your kind perusal.

S.No.	Course/Year	No. of eligible students	Amount of scholarship @each course in Rs.	Amount required for payment of scholarship per month	Total amount required for payment of scholarship (10 months) 75,000-00
		for scholarship		7500-00	
1	Siksha Sastri-1year	50	150	7350-00	73,500-00
2	Siksha Sastri-2year	49	150	2000-00	20,000-00
	Siksha Acharya -1year	10	200	3200-00	32,000-00
	Siksha Acharya -2year	16	200	3200-00	
3	Siksha Acharya	16	1000		16,000-00
	grant (one time only)		TOTAL Rs.	20,050-00	2,16,500-00

The total commitment for the entire academic year i.e. 2019-20 of Rs.2,16,500/-(Rupees Two Lakh sixteen thousand five hundred only). Hence permission may please be accorded to sanction and to incur the total expenditure from the non-plan budget for the academic year 2019-20.

Submitted for approval:

(Dept. of Edn.)

(Fac. of Edn.)

2877 25/10/18

2003 28/10/19

Play he append

Encl.: Eligibility Students list

BR Admit to



#### RASHTRIYA SANSKRIT VIDYAPEETHA TIRUPATI - 517 507, (A.P.)

Olo. Registrar OW. No. .. 2802.... Date .. 23/10/19...

F.No. RSVP/acd./VV/Sch.Ship//2019-20

Date: 16-10-2019

#### Note Submitted:

Sub: Payment of Scholarships for the students provisionally admitted during the Academic year 2019-20 - (03) three years sanction -Regarding.

It is submitted that during the academic year 2019-20, (87) Eight FULL TIME

Research Scholars have been admitted in the Vidyavaridhi programme.

As per the norms of the Vidyapeetha, the students who have joined as FULL TIME Research Scholars are to be paid the scholarships subject to non-receipt of other scholarships, like JRF/Sansthan etc., for which the application form from the Regular scholar have been called for the Vidyapeetha. The details of expenditure to be incurred on this will be as follows:

s.NO	HEAD OF ACCOUNT	No. of Research Scholars	DETAILS	RS. PS.
1	Scholarship	87	Rs.2000 per month x for 36 months x 87 scholars	62,64,000-00
2	Contingent Grant	87	Rs. 2000 per head x 87 scholars (one time)	1,74,000-00
		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Tota	64,38,000-00

(Rupees Sixty Four Lakh and Thirty Eight thousands only)

Sanction may please be accorded to pay scholarship for the scholars of Vidyavaridhi programme who have admitted in the academic year 2019-20 and to incur the expenditure for the entire course period from the funds of Grant-in-aid of Vidyapeetha. List of Full Time scholars are enclosed for perusal.

Head (R&P) Convener, VRC

Faculty of Sahitya & Samskriti

Faculty of Darsanas

Faculty of Education

Faculty of Vedavedangas

Academic Affairs

Regist al i/

Vice-Chandellor

# RASHTRIYA SANSKRIT VIDYAPEETHA: TIRUPATHI - 517507 - A.P

(Deemed to be University established under section 3 of UGC Act, 1956)

F.NO/RSV/ACD/2019-20

Date: 19.08.2019

Note Submitted:

Sub: Sanction of scholarships for the students who have studied during the current academic year 2019-20 (for 10 month) - Regarding.

It is submitted that the Vidyapeetha is paying the scholarship to all students who have studied in the regular courses every year. The students have been studied to Prak - Sastri, Sastri, Sastri VB, B.Sc., B.A., B.Sc., Yoga, Acharya, M.A. Sab, M.A Hindi, and M.Sc., Mphil., (1st 2nd & 3rd years)courses. The total commitment for the entire academic year i.e. 2019-20 for Rs 39,35,000. Hence permission may please be accorded to sanction and to incur the total expenditure from the non plan budget for the academic year 2019-20.

	he total expenditure from		RATE OF	TOTAL AMOUNT REQUIRED	TOTAL AMOUNT REQUIRED FOR PAYMENTOF SCHOLARSHIP
		TOTAL NO. OF	SCHOLARSHIP	FOR SCHOLARSHIP PER	FOR THE ACADEMIC YEAR (10
	COURSE/YEAR	STUDENTS	EACH	MONTH	MONTHS)
10	CO 311321 12	310051410	COURSE		2,58000
		85	300	25,800	2,64000
	PRAK - SASTRI - 1	88	300	26,400	3,99,000
	PRAK – SASTRI – 2	114	350	39,900	3,74,500
	SASTRI-1	107	350	37,450	5,07,500
	SASTRI - 2		350	50,750	000
	SASTRI-3	145	350	000	24,50
	SASTRI - VB - 1	000	350	2,450	10.50
	SASTRI-VB-2	07	350	1050	. <u></u>
	SASTRI-VB-3	03	350	2,100	21,00
	B.Sc-1	06	350	2,800	28,00
·	B.Sc - 2	08		4,550	45,50
- 11	B.Sc-3	13	350	3,850	38,50
5.	B.A -1	11	350	2,800	28,0
· _	B.A-2	08	350	5,950	59,5
	B.A-3	17	350	6,300	63,0
6.	B.Sc., YOGA - 1	18	350	6,650	66,5
6. 7.	B.Sc., YOGA - 2	19	350	68.800	6,88,0
<u>/.                                    </u>	ACHARYA-1	172	400	71,200	7,12,0
<u>/·                                     </u>	ACHARYA – 2	178	400	000	i
8.	M.A SAB - 1			400	1
.8.	M.A SAB - 2	01	400	2400	24,0
9.	M.Sc-1	06	400	400	41
٦.	M.Sc-2	01	400	2400	24,
		06	400	3,60	26
10,	M.A HINDI – 2	09	400	25,50	
		34	750	2.02.50	<del> </del>
11.	WI-POH		Grand Tota	3,95,50	

(Rupees thirty nine lakhs and thrity five thousands only)

Submitted for approval



#### RASHTRIYA SANSKRIT VIDYAPEETHA TIRUPATI – 517 507, (A.P.)

O/o. Registrar O/w. No. ..2802.... Date ...23/11/1/2...

F.No. RSVP/acd./VV/Sch.Ship//2019-20

Date: 16-10-2019

#### Note Submitted:

Sub: Payment of Scholarships for the students provisionally admitted during the Academic year 2019-20 – (03) three years sanction –Regarding.

It is submitted that during the academic year 2019-20, (87) Eight FULL TIME

Research Scholars have been admitted in the Vidyavaridhi programme.

As per the norms of the Vidyapeetha, the students who have joined as FULL TIME Research Scholars are to be paid the scholarships subject to non-receipt of other scholarships, like JRF/Sansthan etc., for which the application form from the Regular scholar have been called for the Vidyapeetha. The details of expenditure to be incurred on this will be as follows:

s.NO	HEAD OF ACCOUNT	No of Re	ars	DETAILS		TOTAL RS. PS. 62,64,000-00
1	Scholarship	87	7	Rs.2000 per month x fo 36 months x 87 scholar	6	
2	Contingent Grant	87	7	Rs. 2000 per head x 87 scholars (one time)		1,74,000-00
		5		(one time)	Total	64,38,000-00

(Rupees Sixty Four Lakh and Thirty Eight thousands only)

Sanction may please be accorded to pay scholarship for the scholars of Vidyavaridhi programme who have admitted in the academic year 2019-20 and to incur the expenditure for the entire course period from the funds of Grant-in-aid of Vidyapeetha. List of Full Time scholars are enclosed for perusal.

Head (R&P) Convener, VRC

Faculty of Sahitya & Samskriti

Faculty of Darsanas

--

Faculty of Vedavedangas

Dean Academic Affairs

Cooper

Faculty of Education

Registrar i/c

Vice-Chancellor

Mecoutouten

Despute is 140 50 Date 24 10 19

22/10/19

ARIAM

# RASHTRIYA SANSKRIT VIDYAPEETHA: TIRUPATHI - 517507 - A.P

(Deemed to be University established under section 3 of UGC Act, 1956)

F.NO/RSV/ACD/2019-20

Date: 19.08.2019

Note Submitted:

Sub: Sanction of scholarships for the students who have studied during the current academic year 2019-20 (for 10 month) - Regarding.

It is submitted that the Vidyapeetha is paying the scholarship to all students who have studied in the regular courses every year. The students have been studied to Prak - Sastri, Sastri VB, B.Sc., B.A., B.Sc., Yoga, Acharya, M.A. Sab, M.A Hindi, and M.Sc., Mphil., (1st 2nd & 3rd years)courses. The total commitment for the entire academic year i.e. 2019-20 for Rs 39,35,000. Hence permission may please be accorded to sanction and to incur the total expenditure from the non plan budget for the academic year 2019-20.

	he total expenditure from		RATE OF	TOTAL AMOUNT REQUIRED	TOTAL, AMOUNT REQUIRED FOR PAYMENTOF SCHOLARSHIP
	<del></del>	TOTALNO,OF	SCHOLARSHIP	FOR SCHOLARSHIP PER	FOR THE ACADEMIC YEAR (10
	COURSE/YEAR	STUDENTS	EACH	MONTH	MONTHS)
10	2001122, 12	31005013	COURSE		2,58000
		86	300	25,800	2,64000
	PRAK - SASTRI - 1	88 -	300	26,400	3,99,000
	PRAK - SASTRI - 2	114	350	39,900	3,74,500
	SASTRI-I	107	350	37,450	5,07,500
	SASTRI – 2	145	350	50,750	9,07,000
	SASTRI - 3	000	350	000	24,500
	SASTRI – VB – 1	07	350	2,450	10,500
	SASTRI - VB - 2		350	1050	21,000
	SASTRI - VB - 3	03	350	2,100	28,000
	B.Sc-1	06	350	2,800	45,50
tation.	B.Sc - 2	08	350	4,550	
	B.Sc-3	13	350	3,850	38,50
	BA-1	11	350	2,800	28,00
	B.A-2	80	350	5,950	59,50
	B.A-3	17		6,300	63,00
6.	B.Sc., YOGA - 1	18	350	6,650	66,50
7.	B.Sc., YOGA - 2	19	350	68,800	6,88,00
<del>/.</del> 7.	ACHARYA – 1	172	400	71,200	7,12,00
<u>'</u> -	ACHARYA - 2	178	400	000	0
8.	M.A SAB – 1	-		400	40
٥.	M.A SAB - 2	01	400	2400	24,0
9,	M.Sc-1	06	400	40	40
<b>3</b> ;	M.5c-2	01	400	240	- <del> </del>
40	MA HINDI – 1	06	400	3,60	_ <del></del>
10.	M.A HINDI –2	09	400	25,50	766
		34	750	7.02 50	- <del></del>
11.	Mrkun		Grand Tota	il	· 1

(Rupees thirty nine lakhs and thrity five thousands only)

Submitted for approval